
9(x)=  xT-X 


) 


f'(x)= 


(two 


2-xX 


2 


unclef  but  thir  i 
F) 
 S  AOMAMn 


X+3 

nota 


2 


x6x-V 
(X+-3) 


36+4 
2x+6x-x 
 6 
ie 


x 


2 


(X+3) 


) 


(X+3}} 


3/4 


f(x) 
 2x 
X 


4X 

2 


X 


3 


X 
F(x)  =  x 


F 


=  3xx-2) 


(N  u 


FW=0  @  x=0&x=Z 
 x=1 


bou!  x=Z  is 




1&  S 


on  [0&] 


2 


G(X)  > 


19 
G&) 

2(x-ut}(x-q) 


MI 

G(1) 


2x- 

2 


maxa 
=  X 
 1,n  9 


HX 
 on  (o2] 

2 


2 
-x 

2 


2 
() 
2 


X= 
1  (=  X 
(=)  X 


0.&Z 

Mir 


I 


+1) 


H(2) 


(x)  y 

2 


on  [-2.2] 

2 


+1 


ain  [-.7] 

pin  vel 


-2) 

2 
2l 


(x5 

2 


[4 


f) 
 1.4 


2 



